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Modeling Atoms in Chemical Reactions 

	Reaction
	KEY 

(create your own icons to represent the following atoms)
	1. Using your atomic icons, represent what is happening in the reaction.  

2. Identify elements and compounds.
3.  Circle the atoms and underline the compounds.

	Potassium (K) and Hydrochloric acid (HCl) react to produce hydrogen (H) gas and potassium chloride (KCl)
	K
H

Cl


	K           +         HCl         (          KCl         +         H


	Follow the directions above, show a reaction using 6 atoms of potassium (K) and 3 molecules of hydrochloric acid (HCl).  Is there any unreacted K or HCl? Explain why.
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